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(1 1t A= 5 1| and B = syl then find x and y so that AB= BA.
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(3)  Use Cramer’s rule to solve the system

X+2y+ z=0,
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(4)  Write the vector w=(7,7,9,11), if possible, as a lincar combination of the vectors

v, = (2,0,3,1), v, = (4,1,3,2), and v, = (1,3,—1,3). [12 points]
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Find a basis and the dimension of the solution space of the homogeneous linear system
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(6)  Determine whether or not ¥ is a subspace of R’ where: U»O/points]
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Show that the set of vectors {(1, 1,0),(1, 0,1),(0,1,1)} forms a basis for the vector spacg R’ .
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(8) Find a general solution of the 2™ order constant coefficient homogenous linear
differential equation g
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(9)  The complimentary and the particular solutions of the linear 2™ order non homogeneous
differential equation y"+4y =4x are givenby y. = Acos2x+ Bsin2x and y,=x.

a. Verify that the solutions of the homogenous part are linearly independent.

b. Find the solution of the differential equation that satisfies the initial conditions.
y(0)=3 and y'(0)=4.
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